

**EUR 505.e**

**REPRINT**

EUROPEAN ATOMIC ENERGY COMMUNITY - EURATOM

**TWO THEOREMS IN THE APPROXIMATION  
OF FUNCTIONS OF TWO VARIABLES  
BY POLYNOMIALS OF THE BERNSTEIN-TYPE**

by

**P.V. LAMBERT**  
(University of Louvain)

**1964**



Joint Nuclear Research Centre  
Ispra Establishment  
Scientific Information Processing Centre (CETIS)

Work performed under Euratom contract No. 011-61-1 CETB  
with the University of Louvain

Reprinted from  
SIMON STEVIN - WIS- EN NATUURKUNDIG TIJDSCHRIFT  
Vol. 36 February 1963



## LEGAL NOTICE

This document was prepared under the sponsorship of the Commission of the European Atomic Energy Community (EURATOM).

Neither the EURATOM Commission, its contractors nor any person acting on their behalf:

- 1° — Make any warranty or representation, express or implied, with respect to the accuracy, completeness, or usefulness of the information contained in this document, or that the use of any information, apparatus, method, or process disclosed in this document may not infringe privately owned rights; or
- 2° — Assume any liability with respect to the use of, or for damages resulting from the use of any information, apparatus, method or process disclosed in this document.

*This reprint is intended for restricted distribution only. It reproduces, by kind permission of the publisher, an article from "SIMON STEVIN, WIS- EN NATUURKUNDIG TIJDSCHRIFT", 36<sup>e</sup> Jaarg., Afl. III - 1963. For further copies please apply to Prof. J. Bilo - 164, Oude Brusselse Weg — Gentbrugge (België).*

*Dieser Sonderdruck ist für eine beschränkte Verteilung bestimmt. Die Wiedergabe des vorliegenden in „SIMON STEVIN, WIS- EN NATUURKUNDIG TIJDSCHRIFT“, 36<sup>e</sup> Jaarg., Afl. III - 1963, erschienenen Aufsatzes erfolgt mit freundlicher Genehmigung des Herausgebers. Bestellungen weiterer Exemplare sind an Prof. J. Bilo - 164, Oude Brusselse Weg — Gentbrugge (België), zu richten.*

*Ce tiré-à-part est exclusivement destiné à une diffusion restreinte. Il reprend, avec l'aimable autorisation de l'éditeur, un article publié dans «SIMON STEVIN, WIS- EN NATUURKUNDIG TIJDSCHRIFT», 36<sup>e</sup> Jaarg., Afl. III - 1963. Tout autre exemplaire de cet article doit être demandé à Prof. J. Bilo - 164, Oude Brusselse Weg — Gentbrugge (België).*

*Questo estratto è destinato esclusivamente ad una diffusione limitata. Esso è stato riprodotto, per gentile concessione dell'Editore, da «SIMON STEVIN, WIS- EN NATUURKUNDIG TIJDSCHRIFT», 36<sup>e</sup> Jaarg., Afl. III - 1963. Ulteriori copie dell'articolo debbono essere richieste a Prof. J. Bilo - 164, Oude Brusselse Weg — Gentbrugge (België).*

*Deze overdruk is slechts voor beperkte verspreiding bestemd. Het artikel is met welwillende toestemming van de uitgever overgenomen uit „SIMON STEVIN, WIS- EN NATUURKUNDIG TIJDSCHRIFT“, 36<sup>e</sup> Jaarg., Afl. III - 1963. Meer exemplaren kunnen besteld worden bij Prof. J. Bilo - 164, Oude Brusselse Weg — Gentbrugge (België).*



## EUR 505.e

REPRINT

TWO THEORIES IN THE APPROXIMATION OF FUNCTIONS OF TWO VARIABLES BY POLYNOMIALS OF THE BERNSTEIN - TYPE by P.V. LAMBERT. (university of Louvain)

European Atomic Energy Community - EURATOM.

Joint Nuclear Research Centre.

Ispira Establishment.

Scientific Information Processing Centre (CETIS).

Work performed under Euratom contract No. 011-61-1 CETB with the University of Louvain.

Reprinted from "Simon Stevin - Wis- en Natuurkundig Tijdschrift", Vol. 36, February 1963.

This paper studies the approximation of functions of two variables in the triangle

$$S = [(x,y); \quad 0 \leq x, \quad 0 \leq y, \quad x + y \leq 1]$$

---

## EUR 505.e

REPRINT

TWO THEORIES IN THE APPROXIMATION OF FUNCTIONS OF TWO VARIABLES BY POLYNOMIALS OF THE BERNSTEIN - TYPE by P.V. LAMBERT. (university of Louvain)

European Atomic Energy Community - EURATOM.

Joint Nuclear Research Centre.

Ispira Establishment.

Scientific Information Processing Centre (CETIS).

Work performed under Euratom contract No. 011-61-1 CETB with the University of Louvain.

Reprinted from "Simon Stevin - Wis- en Natuurkundig Tijdschrift", Vol. 36, February 1963.

This paper studies the approximation of functions of two variables in the triangle

$$S = [(x,y); \quad 0 \leq x, \quad 0 \leq y, \quad x + y \leq 1]$$

---

## EUR 505.e

REPRINT

TWO THEORIES IN THE APPROXIMATION OF FUNCTIONS OF TWO VARIABLES BY POLYNOMIALS OF THE BERNSTEIN - TYPE by P.V. LAMBERT. (university of Louvain)

European Atomic Energy Community - EURATOM.

Joint Nuclear Research Centre.

Ispira Establishment.

Scientific Information Processing Centre (CETIS).

Work performed under Euratom contract No. 011-61-1 CETB with the University of Louvain.

Reprinted from "Simon Stevin - Wis- en Natuurkundig Tijdschrift", Vol. 36, February 1963.

This paper studies the approximation of functions of two variables in the triangle

$$S = [(x,y); \quad 0 \leq x, \quad 0 \leq y, \quad x + y \leq 1]$$

by polynomials constructed by assigning the trinomial weights

$$p_{n,k,m}(x,y) = \frac{n!}{k! m! (n-k-m)!} x^k y^m (1-x-y)^{n-k-m}$$

to the functionvalues at the points

$$\left(\frac{k}{n}, \frac{m}{n}\right), \quad \begin{cases} k = 0, 1, \dots, n; & m = 0, 1, \dots, n; \\ k + m \leq n; \end{cases}$$

this being done for each fixed  $n = 1, 2, \dots$ .

Using the C-norm, we first establish an estimation formula of the approximation degree in function of  $n$  and afterwards prove an asymptotic relation for functions with 2nd order differential.

---

by polynomials constructed by assigning the trinomial weights

$$p_{n,k,m}(x,y) = \frac{n!}{k! m! (n-k-m)!} x^k y^m (1-x-y)^{n-k-m}$$

to the functionvalues at the points

$$\left(\frac{k}{n}, \frac{m}{n}\right), \quad \begin{cases} k = 0, 1, \dots, n; & m = 0, 1, \dots, n; \\ k + m \leq n; \end{cases}$$

this being done for each fixed  $n = 1, 2, \dots$ .

Using the C-norm, we first establish an estimation formula of the approximation degree in function of  $n$  and afterwards prove an asymptotic relation for functions with 2nd order differential.

---

by polynomials constructed by assigning the trinomial weights

$$p_{n,k,m}(x,y) = \frac{n!}{k! m! (n-k-m)!} x^k y^m (1-x-y)^{n-k-m}$$

to the functionvalues at the points

$$\left(\frac{k}{n}, \frac{m}{n}\right), \quad \begin{cases} k = 0, 1, \dots, n; & m = 0, 1, \dots, n; \\ k + m \leq n; \end{cases}$$

this being done for each fixed  $n = 1, 2, \dots$ .

Using the C-norm, we first establish an estimation formula of the approximation degree in function of  $n$  and afterwards prove an asymptotic relation for functions with 2nd order differential.







# TWO THEOREMS IN THE APPROXIMATION OF FUNCTIONS OF TWO VARIABLES BY POLYNOMIALS OF THE BERNSTEIN-TYPE <sup>(1)</sup>

Pol V. LAMBERT

(*University of Louvain, Seminarium Prof. Florin*)

## I. INTRODUCTION

This paper studies the approximation of functions of two variables in the triangle

$$S = \{ (x, y); 0 \leq x, 0 \leq y, x + y \leq 1 \}$$

by two-dimensional polynomials of the Bernstein-type.

For every positive integer  $n$ , we consider the trinomial weights defined for every  $(x, y)$  in  $S$  by

$$(1.1.1) \quad \begin{cases} p_{n,k,m}(x, y) = \frac{n!}{k!m!(n-k-m)!} \cdot x^k \cdot y^m \cdot (1-x-y)^{n-k-m} \\ k=0, 1, \dots, n; m=0, 1, \dots, n; k+m \leq n. \end{cases}$$

It is known that for every point  $(x, y)$  in  $S$

$$(1.1.2) \quad 0 \leq p_{n,k,m}(x, y) \leq 1, \quad \sum_{0 \leq k+m \leq n} p_{n,k,m}(x, y) = 1.$$

This probability distribution over the points  $\left(\frac{k}{n}, \frac{m}{n}\right)$  of  $S$  has similar convergence properties (for  $n \rightarrow \infty$ ) as the one-dimensional Bernoulli distribution given for every  $x$  in  $[0, 1]$  by

$$(1.1.3) \quad p_{n,k}(x) = \frac{n!}{k!(n-k)!} \cdot x^k \cdot (1-x)^{n-k}$$

cfr [1] pp. 3-4.

<sup>(1)</sup> This research was sponsored by the *European Commission for Atomic Energy* under contract 011/61/1 DOB.

Over the set of functions  $f$  defined and finite in  $S$  we define for every positive integer  $n$  the linear operator  $B_n$  such that

$$(1.1.4) \quad B_n[f(x, y)] = \sum_{0 \leq k+m \leq n} f\left(\frac{k}{n}, \frac{m}{n}\right) \cdot p_{n,k,m}(x, y).$$

A convergence theorem (cfr. theorem 3.1) is given in [1] p. 51. Our aim is to prove first an estimation formula of the approximation degree and afterwards an asymptotic relation for functions with 2<sup>nd</sup> derivatives which generalizes Woronowskaja's result to the two-dimensional case. (\*)

## II. LEMMAS

We need first some estimation formulae which are similar to the one-dimensional case because of equality-relations existing between the moments  $P_{n,s}(x, y)$  and  $Q_{n,s}(x, y)$  defined by

$$(2.0.1) \quad \begin{cases} P_{n,s}(x, y) = \sum_{0 \leq k+m \leq n} (k-nx)^s \cdot p_{n,k,m}(x, y) \\ Q_{n,s}(x, y) = \sum_{0 \leq k+m \leq n} (m-ny)^s \cdot p_{n,k,m}(x, y) \end{cases} \quad s=0, 1, 2, \dots$$

and the one-dimensional moments  $T_{n,s}(x)$  defined by

$$(2.0.2) \quad T_{n,s}(x) = \sum_{k=0}^n (k-nx)^s \cdot p_{n,k}(x); \quad 0 \leq x \leq 1.$$

We have indeed :

### LEMMA 2.1

For every  $s=0, 1, \dots$ ,  $P_{n,s}(x, y)$  is independent of  $y$ ,  $Q_{n,s}(x, y)$  is independent of  $x$  and :

$$(2.1.1) \quad P_{n,s}(x, y) = T_{n,s}(x); \quad Q_{n,s}(x, y) = T_{n,s}(y).$$

(\*) This study was part of the author's dissertation requirements to acquire his academic degree at the University of Louvain, Belgium, and he expresses his deepest feelings of gratitude to Prof. H. FLORIN, Dr. M. NEUTS and Dr. THE TJOE TIE for valuable comments.



*Proof:*

We only need to examine  $P_{n,s}(x, y)$ . We have :

$$\begin{aligned}
 P_{n,s}(x, y) &= \sum_{0 \leq k+m \leq n} (k-nx)^s p_{n,k,m}(x, y) = \\
 &= \sum_{k=0}^n (k-nx)^s \cdot \frac{n!}{k! (n-k)!} \cdot x^k \cdot \\
 &\quad \cdot \sum_{m=0}^{n-k} \frac{(n-k)!}{m! (n-k-m)!} \cdot y^m \cdot (1-x-y)^{n-k-m}
 \end{aligned}$$

But

$$\begin{aligned}
 \sum_{m=0}^{n-k} \binom{n-k}{m} \cdot y^m \cdot (1-x-y)^{n-k-m} &= [y + (1-x-y)]^{n-k} = \\
 &= (1-x)^{n-k}.
 \end{aligned}$$

This yields the result.

COROLLARIES :

We now recall (6) p. 15 in [1], i.e.

(2.2.1)  $0 \leq T_{n,2s}(x) \leq A(s) \cdot n^s$ ;  $0 \leq x \leq 1$ ;  $s = 0, 1, 2, \dots$ ,  
 $A$  being a constant depending only on  $s$ . So by (2.2.1) and lemma 2.1 follows

(2.2.2)  $0 \leq P_{n,2s}(x, y) \leq A(s) \cdot n^s$ ;  $(x, y) \in S$ ;  $s = 0, 1, 2, \dots$ ,  
and similar results for  $Q_{n,2s}(x, y)$ .

We now have the following estimation formula for every  $\delta > 0$  and  $(x, y)$  in  $S$  :

$$(2.2.3) \quad \sum_{\substack{0 \leq k+m \leq n \\ |k/n-x| \geq \delta}} p_{n,k,m}(x, y) \leq \frac{A(s)}{n^s \cdot \delta^{2s}}. \quad (*)$$

In order to prove this, we first notice that  $\left| \frac{k}{n} - x \right| \geq \delta$  implies  $(k-nx) \neq 0$ . Then by (1.1.2) and (2.2.2) we get :

$$\sum_{\substack{0 \leq k+m \leq n \\ |k/n-x| \geq \delta}} p_{n,k,m}(x, y) = \sum_{\substack{0 \leq k+m \leq n \\ |k/n-x| \geq \delta}} \frac{(k-nx)^{2s}}{(k-nx)^{2s}} \cdot p_{n,k,m}(x, y)$$

$$(*) \quad |k/n-x| \text{ means } \left| \frac{k}{n} - x \right|.$$



$$\begin{aligned} &\leq \frac{1}{n^{2s} \cdot \delta^{2s}} \cdot \sum_{\substack{0 \leq k+m \leq n \\ |k/n-x| \geq \delta}} (k-nx)^{2s} \cdot p_{n,k,m}(x,y) \\ &\leq \frac{P_{n,2s}(x,y)}{n^{2s} \cdot \delta^{2s}} \leq \frac{A(s) \cdot n^s}{n^{2s} \cdot \delta^{2s}} = \frac{A(s)}{n^s \cdot \delta^{2s}}, \text{ q.e.d.} \end{aligned}$$

For  $s=1$ , since  $P_{n,2}(x,y) = P_{n,2}(x) = nx(1-x)$ , (2.2.3) yields

$$(2.2.4) \quad \sum_{\substack{0 \leq k+m \leq n \\ |k/n-x| \geq \delta}} p_{n,k,m}(x,y) \leq \frac{nx(1-x)}{n^2 \delta^2} \leq \frac{1}{4n \delta^2}.$$

Now for a fixed  $k > 0$ , we can find a positive integer  $s$  and a real number  $\alpha$  in the open interval  $(0, 1/2)$  satisfying the relation  $s(1-2\alpha) = k$ . Then for  $\delta = n^{-\alpha}$  (2.2.3) implies :

$$(2.2.5) \quad \sum_{\substack{0 \leq k+m \leq n \\ |k/n-x| \geq n^{-\alpha}}} p_{n,k,m}(x,y) \leq \frac{A(s)}{n^{s(1-2\alpha)}} = \frac{C(\alpha,k)}{n^k}.$$

By starting from the moment  $Q_{n,2s}(x,y)$  similar results can of course be obtained where  $m$  and  $y$  take the place of  $k$  and  $x$ .

### III. MAIN THEOREMS

We state first a known result ([1] p. 51).

#### THEOREM 3.1

Let  $f$  and  $B_n f$  be defined in  $S$ . Then

$$(3.1.1) \quad \lim_{n \rightarrow \infty} B_n[f(x,y)] = f(x,y)$$

in every point  $(x,y)$  of  $S$  where  $f$  is continuous. The convergence is uniform if  $f$  is continuous in  $S$ .

#### DEFINITIONS

1) For a function  $f$  defined in  $S$ , we use the following oscillation ( $\delta_1 > 0, \delta_2 > 0$ )

$$(3.1.2) \quad \omega(\delta_1, \delta_2) = \sup_{\substack{|x-x'| < \delta_1, |y-y'| < \delta_2 \\ (x,y) \in S, (x',y') \in S}} |f(x',y') - f(x,y)|.$$



2) We now denote as in [1] p. 20  $\lambda(x_1, x_2, \delta)$  as the greatest integer contained in  $\frac{|x_1 - x_2|}{\delta}$ ,  $\delta > 0$ . Similar definition for  $\lambda(y_1, y_2, \delta)$ . We are now able to prove the following estimation theorem.

### THEOREM 3.2

Let  $f$  and  $B_n f$  be defined in  $S$ . Then for every point  $(x, y)$  of  $S$  we have :

$$(3.2.1) \quad |B_n[f(x, y)] - f(x, y)| \leq \frac{3}{2} \cdot \omega(n^{-1/2}, n^{-1/2}).$$

*Proof*

We have by our definitions and by (1.1.2)

$$(3.2.2) \quad |B_n[f(x, y)] - f(x, y)| \leq \sum_{0 \leq k+m \leq n} \left| f\left(\frac{k}{n}, \frac{m}{n}\right) - f(x, y) \right| \cdot p_{n,k,m}(x, y).$$

Any interval  $\left[\frac{k}{n}, x\right]$  can be divided into  $\left[\lambda\left(\frac{k}{n}, x, \delta_1\right) + 1\right]$  subintervals the length of each being less than  $\delta_1$ . Let  $\left[\lambda\left(\frac{k}{n}, x, \delta_1\right) + 1\right] = N$  and call  $x_{N-1}, x_{N-2}, \dots, x_1$  the interior subdivision points. In the same way let  $\left[\lambda\left(\frac{m}{n}, y, \delta_2\right) + 1\right] = M$  and call  $y_{M-1}, y_{M-2}, \dots, y_1$ , the interior subdivision points of an interval  $\left[\frac{m}{n}, y\right]$ . Let us now take the case  $N \geq M$ . (The case  $N < M$  would be similar). We then have :

$$\begin{aligned} \left| f\left[\frac{k}{n}, \frac{m}{n}\right] - f(x, y) \right| &\leq \left| f\left(\frac{k}{n}, \frac{m}{n}\right) - f(x_{N-1}, y_{M-1}) \right| + \\ &\quad + |f(x_{N-1}, y_{M-1}) - f(x_{N-2}, y_{M-2})| + \dots + \\ &\quad + |f(x_{N-M+1}, y_1) - f(x_{N-M}, y)| + |f(x_{N-M}, y) - f(x_{N-M-1}, y)| + \\ &\quad + \dots + |f(x_1, y) - f(x, y)|, \end{aligned}$$

where some terms can vanish.



This means that in every case ( $N \geq M$  or  $N < M$ ) we have :

$$(3.2.3) \quad \left| f\left(\frac{k}{n}, \frac{m}{n}\right) - f(x, y) \right| \leq \\ \leq \left[ \max \left[ \lambda\left(\frac{k}{n}, x, \delta_1\right), \lambda\left(\frac{m}{n}, y, \delta_2\right) \right] + 1 \right] \cdot \omega(\delta_1, \delta_2)$$

Let  $\lambda_{k,m}(x, y) = \max \left[ \lambda\left(\frac{k}{n}, x, \delta_1\right), \lambda\left(\frac{m}{n}, y, \delta_2\right) \right]$ . Then (3.2.2) and (3.2.3) imply :

$$(3.2.4) \quad |B_n[f(x, y)] - f(x, y)| \leq \omega(\delta_1, \delta_2) \cdot \\ \cdot \sum_{0 \leq k+m \leq n} [1 + \lambda_{k,m}(x, y)] \cdot p_{n,k,m}(x, y) \\ \leq \omega(\delta_1, \delta_2) \cdot \left[ 1 + \sum_{\lambda_{k,m} \geq 1} \lambda_{k,m}^2(x, y) \cdot p_{n,k,m}(x, y) \right] \leq \\ \leq \omega(\delta_1, \delta_2) \cdot \left[ 1 + \sum_{\substack{0 \leq k+m \leq n \\ |k/n - x| \geq \delta_1}} \frac{\left(\frac{k}{n} - x\right)^2}{\delta_1^2} \cdot p_{n,k,m}(x, y) + \right. \\ \left. + \sum_{\substack{0 \leq k+m \leq n \\ |m/n - y| \geq \delta_2}} \frac{\left(\frac{m}{n} - y\right)^2}{\delta_2^2} \cdot p_{n,k,m}(x, y) \right] \\ \leq \omega(\delta_1, \delta_2) \cdot \left[ 1 + \frac{1}{n^2 \delta_1^2} \cdot P_{n,2}(x, y) + \frac{1}{n^2 \delta_2^2} \cdot Q_{n,2}(x, y) \right] \leq \\ \leq \omega(\delta_1, \delta_2) \cdot \left[ 1 + \frac{1}{4n \delta_1^2} + \frac{1}{4n \delta_2^2} \right].$$

If we now let  $\delta_1 = \delta_2 = n^{-1/2}$ , we get (3.2.1), q.e.d.

*Remark :*

This theorem implies as a particular case the 2<sup>nd</sup> part of theorem 3.1.

We now give the asymptotic formula mentioned in the introduction and its proof.

### THEOREM 3.3

Let  $f$  be defined and bounded in  $S$ . In each point  $(x, y)$  of  $S$  where  $f$  has a 2<sup>nd</sup>-order differential we have

$$(3.3.1) \quad B_n[f(x, y)] = f(x, y) + \frac{x(1-x)}{2n} \cdot \frac{\partial^2 f}{\partial x^2} + \\ + \frac{y(1-y)}{2n} \cdot \frac{\partial^2 f}{\partial y^2} - \frac{xy}{n} \cdot \frac{\partial^2 f}{\partial x \partial y} + \frac{\varrho_n}{n}, \quad \text{where } \lim_{n \rightarrow \infty} \varrho_n = 0.$$

If all the 2<sup>nd</sup>-order partial derivatives of  $f$  are continuous in  $S$ , then :

$$\lim_{n \rightarrow \infty} \varrho_n = 0, \text{ uniformly in } S.$$

*Proof:*

By our assumptions  $\frac{\partial^2 f}{\partial x \partial y} = \frac{\partial^2 f}{\partial y \partial x}$  and

$$(3.3.2) \quad f\left(\frac{k}{n}, \frac{m}{n}\right) = f(x, y) + \left(\frac{k}{n} - x\right) \cdot \frac{\partial f}{\partial x} + \left(\frac{m}{n} - y\right) \cdot \frac{\partial f}{\partial y} + \\ + \frac{1}{2} \left(\frac{k}{n} - x\right)^2 \cdot \frac{\partial^2 f}{\partial x^2} + \frac{1}{2} \left(\frac{m}{n} - y\right)^2 \cdot \frac{\partial^2 f}{\partial y^2} + \\ + \left(\frac{k}{n} - x\right) \cdot \left(\frac{m}{n} - y\right) \cdot \frac{\partial^2 f}{\partial x \partial y} + \\ + \varphi_1\left(\frac{k}{n}, x, y\right) \cdot \left(\frac{k}{n} - x\right)^2 + \varphi_2\left(\frac{m}{n}, x, y\right) \cdot \left(\frac{m}{n} - y\right)^2 + \\ + \varphi_3\left(\frac{k}{n}, \frac{m}{n}, x, y\right) \cdot \left(\frac{k}{n} - x\right) \cdot \left(\frac{m}{n} - y\right), \text{ where} \\ (3.3.3) \quad \lim_{k/n \rightarrow x} \varphi_1 = 0; \lim_{m/n \rightarrow y} \varphi_2 = 0; \lim_{\substack{k/n \rightarrow x \\ m/n \rightarrow y}} \varphi_3 = 0.$$

If we recall the identities

$$(3.3.4) \quad \begin{cases} P_{n,1}(x, y) = Q_{n,1}(x, y) = 0; \\ P_{n,2}(x, y) = nx(1-x); \quad Q_{n,2}(x, y) = ny(1-y); \\ \sum_{0 \leq k+m \leq n} (k-nx) \cdot (m-ny) \cdot p_{n,k,m}(x, y) = -nxy \end{cases}$$

it follows from (1.1.4) and (3.3.2) that :

$$(3.3.5) \quad B_n[f(x, y)] = f(x, y) + \frac{x(1-x)}{2n} \cdot \frac{\partial^2 f}{\partial x^2} + \\ + \frac{y(1-y)}{2n} \cdot \frac{\partial^2 f}{\partial y^2} - \frac{xy}{n} \cdot \frac{\partial^2 f}{\partial x \partial y} + r_n, \text{ where}$$



$$\begin{aligned}
 (3.3.6) \quad r_n = & \sum_{0 \leq k+m \leq n} p_{n,k,m}(x,y) \cdot \left[ \left( \frac{k}{n} - x \right)^2 \cdot \varphi_1 \left( \frac{k}{n}, x, y \right) + \right. \\
 & + \left( \frac{m}{n} - y \right)^2 \cdot \varphi_2 \left( \frac{m}{n}, x, y \right) + \\
 & \left. + \left( \frac{k}{n} - x \right) \cdot \left( \frac{m}{n} - y \right) \cdot \varphi_3 \left( \frac{k}{n}, \frac{m}{n}, x, y \right) \right].
 \end{aligned}$$

Since  $f$  and hence  $B_n f$  are bounded in  $S$  and the partial derivatives are finite at the point  $(x, y)$ , we have  $|\varphi_i| \leq H, i = 1, 2, 3$ , uniformly when  $\frac{k}{n}$  and  $\frac{m}{n}$  vary in  $S$ . We also have  $\left| \frac{k}{n} - x \right| \leq 1$  and  $\left| \frac{m}{n} - y \right| \leq 1$  everywhere in  $S$ . On the other hand by (3.3.3) given  $\varepsilon > 0$ , there is a  $\delta > 0$  depending only on  $\varepsilon$  and  $(x, y)$  such that  $|\varphi_i| < \varepsilon, i = 1, 2, 3$ , whenever  $\left| \frac{k}{n} - x \right| < \delta$  and  $\left| \frac{m}{n} - y \right| < \delta$ . All this and the identities (3.3.4) imply :

$$\begin{aligned}
 |r_n| \leq & \frac{\varepsilon}{n^2} \cdot [nx(1-x) + ny(1-y) + nx] + \\
 & + 3H \cdot \left( \sum_{\substack{0 \leq k+m \leq n \\ |k/n-x| \geq \delta}} p_{n,k,m}(x,y) + \sum_{\substack{0 \leq k+m \leq n \\ |m/n-y| \geq \delta}} p_{n,k,m}(x,y) \right)
 \end{aligned}$$

Let  $\delta = n^{-\alpha}, 0 < \alpha < \frac{1}{2}, \alpha$  fixed; then  $\varepsilon$  depends on  $n$  and  $\lim_{n \rightarrow \infty} \varepsilon(n) = 0$ .

By now using (2.2.5) with  $k > 1$  we get

$$|r_n| \leq \frac{3}{4} \cdot \frac{\varepsilon(n)}{n} + 6H \cdot \frac{C(\alpha, k)}{n^k} = \frac{\frac{3}{4} \varepsilon(n) + \zeta(n)}{n}$$

where  $\lim_{n \rightarrow \infty} \zeta(n) = 0$ . This proves the first part of the theorem.

When the 2<sup>nd</sup>-order partial derivatives are continuous everywhere in  $S$ , and hence bounded, the number  $H$  can be chosen the same everywhere in  $S$ . On the other hand, given  $\varepsilon > 0$ , we can now also choose the same  $\delta$  for all points  $(x, y)$  of  $S$ . This implies that the estimation of  $r_n$  becomes uniform in  $S$ , and so proves the 2<sup>nd</sup> part of the theorem.

### *General remark*

All the results of this paper can easily be generalized to functions of  $n$  variables ( $n = 1, 2, 3, \dots$ ).

*June 1961*

### REFERENCES

- [1] LORENTZ G.G., "*Bernstein Polynomials*", Toronto 1953.
- [2] POPOVICIU T., «Sur l'approximation des fonctions convexes d'ordre supérieur». *Mathematica* — 10 — 1935, pp. 49-54.
- [3] WORONOWSKAJA E.W., «Détermination de la forme asymptotique d'approximation des fonctions par les polynômes de Bernstein». *Comptes Rendus Acad. Sci. U.S.S.R.* — 1932, pp. 79-85.























CDNA00505ENC